
Multivariable Calculus Math 53, Discussion Section Feb 19, 2014

Quiz 4 (25mins, 20pts)

Please write down your name, SID, and solutions discernably.

Name : SID : Score :

1. (10pts : 5pts each) Find the unit tangent vector T(t) at the point with the given value of the parameter t.

a) r(t) = 〈4t, t2 − t, t3 − 3
2 t

2〉, t = 2. b) r(t) = ln ti+ 2π sin(π2 t)j+ (t4 + 4t)k, t = 1.

2. (10pts : 5pts each) Find the length of the curve.

a) r(t) = sin 3ti+ 4tj+ cos 3tk, 1 ≤ t ≤ 4. b) r(t) = 〈 83 t
3
2 , 4t, 12 t

2 − 3t〉, 0 ≤ t ≤ 3.
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